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MARKING INSTRUCTIONS  
PREPARATION FOR MARKING  
SCORIS 
 
1. Make sure that you have accessed and completed the relevant training packages for on-screen marking:  scoris assessor Online Training; 

OCR Essential Guide to Marking.  
 
2. Make sure that you have read and understood the mark scheme and the question paper for this unit. These are posted on the RM Cambridge 

Assessment Support Portal http://www.rm.com/support/ca  
 
3. Log-in to scoris and mark the required number of practice responses (“scripts”) and the number of required standardisation responses. 

 
YOU MUST MARK 10 PRACTICE AND 10 STANDARDISATION RESPONSES BEFORE YOU CAN BE APPROVED TO MARK LIVE SCRIPTS. 
 
MARKING 
 
1. Mark strictly to the mark scheme. 
 
2. Marks awarded must relate directly to the marking criteria.  
 
3. The schedule of dates is very important. It is essential that you meet the scoris 50% and 100% (traditional 40% Batch 1 and 100% Batch 2) 

deadlines. If you experience problems, you must contact your Team Leader (Supervisor) without delay. 
 
4. If you are in any doubt about applying the mark scheme, consult your Team Leader by telephone or the scoris messaging system, or by 

email.  
 
 

5. Always check the pages (and additional objects if present) at the end of the response in case any answers have been continued there. If the 
candidate has continued an answer there then add a tick to confirm that the work has been seen. 

 
6. There is a NR (No Response) option. Award NR (No Response) 

- if there is nothing written at all in the answer space  
- OR if there is a comment which does not in anyway relate to the question (eg ‘can’t do’, ‘don’t know’)  
- OR if there is a mark (eg a dash, a question mark) which isn’t an attempt at the question  
Note: Award 0 marks – for an attempt that earns no credit (including copying out the question) 

 

http://www.rm.com/support/ca
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7. The scoris comments box is used by your team leader to explain the marking of the practice responses. Please refer to these comments 
when checking your practice responses. Do not use the comments box for any other reason.  
If you have any questions or comments for your team leader, use the phone, the scoris messaging system, or e-mail. 
 

8. Assistant Examiners will send a brief report on the performance of candidates to their Team Leader (Supervisor) via email by the end of the 
marking period. The report should contain notes on particular strengths displayed as well as common errors or weaknesses. Constructive 
criticism of the question paper/mark scheme is also appreciated. 

 
9. For answers marked by levels of response: 

a. To determine the level – start at the highest level and work down until you reach the level that matches the answer 
b. To determine the mark within the level, consider the following: 

 

Descriptor Award mark 

On the borderline of this level and the one 
below 

At bottom of level 

Just enough achievement on balance for this 
level 

Above bottom and either below middle or at middle of level (depending on number of marks 
available) 

Meets the criteria but with some slight 
inconsistency 

Above middle and either below top of level or at middle of level (depending on number of marks 
available) 

Consistently meets the criteria for this level At top of level 

 



F582/01 Mark Scheme June 2013 

4 

 
10. Crossed Out Responses 

Where a candidate has crossed out a response and provided a clear alternative then the crossed out response is not marked. Where no 
alternative response has been provided, examiners may give candidates the benefit of the doubt and mark the crossed out response where 
legible. 
 
Rubric Error Responses – Optional Questions 
Where candidates have a choice of question across a whole paper or a whole section and have provided more answers than required, then 
all responses are marked and the highest mark allowable within the rubric is given. (The underlying assumption is that the candidate has 
penalised themselves by attempting more questions than necessary in the time allowed.) 
 
Contradictory Responses 
When a candidate provides contradictory responses, then no mark should be awarded, even if one of the answers is correct.   
 
Short Answer Questions (requiring only a list by way of a response, usually worth only one mark per response)  
Where candidates are required to provide a set number of short answer responses then only the set number of responses should be marked. 
The response space should be marked from left to right on each line and then line by line until the required number of responses have been 
considered.  The remaining responses should not then be marked. Examiners will have to apply judgement as to whether a ‘second 
response’ on a line is a development of the ‘first response’, rather than a separate, discrete response. (The underlying assumption is that the 
candidate is attempting to hedge their bets and therefore getting undue benefit rather than engaging with the question and giving the most 
relevant/correct responses.) 
 
Short Answer Questions (requiring a more developed response, worth two or more marks) 
If the candidates are required to provide a description of, say, three items or factors and four items or factors are provided, then mark on a 
similar basis – that is downwards (as it is unlikely in this situation that a candidate will provide more than one response in each section of the 
response space.) 
 
Longer Answer Questions (requiring a developed response) 
Where candidates have provided two (or more) responses to a medium or high tariff question which only required a single (developed) 
response and not crossed out the first response, then only the first response should be marked. Examiners will need to apply professional 
judgement as to whether the second (or a subsequent) response is a ‘new start’ or simply a poorly expressed continuation of the first 
response. 
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11. Annotations  
 

Please annotate every response, even if no credit is given. 
 

Annotation Meaning 

 
Tick 

 
Cross 

 
Unclear 

 
Benefit of doubt 

 
Effective evaluation 

 
Comment 

 
Level 1 

 
Level 2 

 
Level 3 

 
Level 4 

 
Not answered question 

 
Noted but no credit given 

 
Too vague 

 
Repeat 

 
Highlighting is also available to highlight any particular points on the script. ‘SEEN’ to be inserted on every blank page. 
ADDITIONAL OBJECTS: You must assess and annotate the additional objects for each script you mark. Where credit is awarded, 
appropriate annotation must be used. If no credit is to be awarded for the additional object, please use annotation ‘SEEN’. 
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Question Answer Marks Guidance 

1 (a)  Name the three leakages from the circular flow of income. 
 
One mark each for each of the three leakages i.e. saving, 
taxation and imports. 
 

3 The taxation mark can be given for a type of tax e.g. 
income tax. 
The imports mark can be given for the idea or an 
example of income/expenditure going abroad e.g. current 
transfers. 
 

 (b)  Explain whether the change in China’s real GDP in 2011 
means that injections into the circular flow of income were 
greater than leakages in that year. 
 
One mark for stating yes or confirming injections are greater 
than leakages. 
One mark for recognising this is because real GDP 
increased/economic growth occurred. 
 

2 The ‘yes’ mark may be gained even if the reason is 
invalid. 
If the answer states no, award zero marks even if the 
answer mentions real GDP increased. 

2 (a)  Describe three reasons why consumer expenditure in an 
economy may be relatively low. 
 
One mark for each of three reasons identified e.g. low wages, 
high unemployment, high taxation, low wealth, lack of 
consumer confidence, a high interest rate, uneven distribution 
of income, high level of personal indebtedness, lack of 
availability of credit, age, inflation, uncertainty. 
 
One mark each for each of three explanations e.g.: 
 

 If income is low, the ability of people to spend will be low. 

 High rates of taxation (direct and indirect) will lower ability 
to spend. 

 Unemployment will reduce people’s ability to spend. 

 If wealth is low, people will not be able to borrow much as 
they will not be able to use it as security/it will not generate 
them much income. 

 If consumer confidence is low, people may decide to 
increase their savings. 

6 Note: if identified inflation, to gain the second mark it is 
not sufficient just to state the purchasing power is lower 
or people buy less when prices rise. 
 
Treat low income and low wages as the same point. 
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Question Answer Marks Guidance 

 A high rate of interest will discourage borrowing/encourage 
saving. 

 Inflation will reduce purchasing power if prices are rising by 
more than wages/inflation may cause spending to be cut to 
maintain the real value of savings/inflation may delay their 
purchases in the expectation that prices may be lower in 
the future. 

 If people are uncertain about future economic prospects 
they may choose to save rather than spend. 
 

 (b)  Using information in the case study, calculate whether 
average income was higher in China or in Japan in 2011. 
 
One mark for higher in Japan. 
One mark for supporting evidence i.e.: 
Japan = US$5,670bn/126m = US$45,000. 
China = US$6,480bn/1,350m = US$4,800. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

2 Answers are acceptable without $ sign. 
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Question Answer Marks Guidance 

3 (a)  Define the term ‘inflation’. 
 
Two marks for a sustained/persistent/constant rise in the price 
level/prices/average prices/CPI/RPI/cost of living.  
Two marks for a fall in the value of money over time. 
One mark for idea of rise in the price level/general price 
level/prices/average prices/CPI/RPI/cost of living or a fall in the 
value of money. 
One mark for idea of change occurring over time/ 
sustained/persistent. 
 

2 The mark for the idea of a change over time should be 
awarded only if it is linked to the idea of a rise in the price 
level or version of such. The one exception to this is that 
one mark should be given for ‘a change in the price level 
over time’. 
 
No marks should be given for a micro answer e.g. ‘a rise 
in the price of a good or service over time’. 

 (b)  Using information from Fig. 1, explain what happened to 
the price level in China between 2007–11. 
 
One mark for the price level rose over the period. 
One mark for the price level fell in 2009/deflation occurred in 
2009/price level fell at the end of 2008 and some of 2009. 
One mark for the price level rose most rapidly at the start of the 
period/start of 2007. 
One mark for the price level rose between 2007 and 2008. 
One mark for the price level rose between 2009 and 2011. 
One mark for the price level rose at a slower rate in 2008 than 
in 2007. 
One mark for the rate of increase of the price level slowed 
between 2010 and 2011 / the price level increased by a higher 
percentage in 2011 than in 2010. 
One mark for price level fluctuated. 
 

3  
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Question Answer Marks Guidance 

 (c)  Identify and explain the two causes of inflation mentioned 
in the case study. 
 
A rise in bank lending (one mark) may: 

 increase aggregate demand/increase the money supply 
(one mark) and 

 this may cause demand-pull inflation/higher money supply 
may reduce the value of money (one mark). 

 
A rise in the wage rate (one mark) may: 

 increase costs of production (one mark) and  

 firms may raise prices to cover the higher costs/ firms may 
raise prices to maintain profits (one mark) and 

 AS will decrease (one mark) and 

 This may cause cost-push inflation/cause a wage-price 
spiral (one mark).  

Or: 
A rise in the wage rate (one mark) may: 

 increase aggregate demand (one mark) and 

 this may cause demand-pull inflation (one mark). 
 

6 One mark each for each of the two causes identified i.e. 
rise in bank lending and rise in wages. Up to two marks 
each for each of two explanations: 
 
Accept a diagrammatic approach for one mark each for 
each of two explanations. 
 
If identify higher consumer expenditure as one reason, 
award a maximum of two marks. 
 
Also accept a rise in the rate of interest but only if linked 
to lower investment/higher costs of production. In this 
case: 
rate of interest (one mark) may discourage 
investment/raise costs of production (one mark) and so 
decrease aggregate supply (one mark) cause cost-push 
inflation (one mark). 
 
 
Accept for demand-pull inflation: if the economy is 
operating close to full capacity this may drive up the price 
level. 
 
Do not expect but reward reference to the multiplier 
effect. 
 

4 (a)  Using information in the case study, calculate the level of 
investment in China in 2011. 
 
Two marks for 
US$2,592bn/US$2,592,000,000,000/US$2.592tn. 
One mark for correct working i.e. 40/100 x US$6,480bn/answer 
which contains the figures US$2592.  
 

2 Answers are acceptable without $ sign, 
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Question Answer Marks Guidance 

 (b)  Comment on whether an increase in the rate of interest 
would reduce investment. 
 
Up to three marks for analysis, such as: 

 An increase in the rate of interest will increase the cost of 
borrowing to firms. 

 A higher interest rate increases the opportunity cost of 
investment. 

 A higher interest rate may encourage firms to place profits 
in financial institutions rather than invest/increase reward to 
firms from saving. 

 Consumer expenditure may fall with a higher interest rate 
which may reduce firms’ profits. 

 Lower profits may reduce firms’ ability and willingness to 
invest. 

 Investment involves spending on capital goods. 
 
Up to three marks for evaluation, such as: 

 If firms expect the yield to exceed the rate of interest they 
will still invest/firms may be optimistic about the future. 

 Firms may not expect the rise in the rate of interest to last. 

 Banks may not pass on the rate increase to their 
customers. 

 Other factors may be favourable to investment, e.g. low 
corporation tax. 

 In real terms the rate of interest may have fallen. 

 Depends on the initial rate of interest.  

 Depends on the size of the increase. 
 

6 Evaluative marks can only be awarded if there is 
underlying analysis focused on the question. 
 
One evaluative point well developed may gain three 
marks e.g.: 
Firms may still invest if they are optimistic about the 
future (1) 
profits may be increasing (1) as consumer spending may 
be rising as they themselves are optimistic about the 
future (1). 
 
Note: no marks if the candidate throughout confuses the 
nature of investment with saving by households.  
However some candidates may analyse lower 
investment in terms of the disincentive effect arising from 
lower consumer spending due to the higher interest rate. 
This is a valid approach.  
 
 
Note: a candidate may suggest that a rise in the rate of 
interest may increase investment if it stimulates a rise in 
loanable funds and investment has previously been 
discouraged by a lack of such funds. This should be 
credited dependent on the strength of the analysis and 
evaluation provided.  
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Question Answer Marks Guidance 

5   The case study mentions a number of supply-side policy 
measures. Analyse the effect of one of these on economic 
growth. 
 

Increasing the role of the private sector (privatisation) (one 
mark) may: 

 increase competition (one mark).  

 raise the profit incentive (one mark). 

 increase investment (one mark). 

 reduce costs of production (one mark).  

 raise efficiency/productivity (one mark).  

 increase aggregate supply/productive capacity (one mark).  

 raise GDP (output)/long run economic growth/result in 
sustained economic growth (one mark).  

 increase quality of output (one mark).  
 

Increased spending on training (one mark) may: 

 increase the skills of labour/human capital (one mark)  

 increase labour productivity/output per worker/efficiency 
(one mark)  

 raise occupational mobility (one mark).  

 lower costs of production (one mark).  

 increase aggregate supply/productive capacity (one mark). 

 raise GDP (output)/long run economic growth/result in 
sustained economic growth (one mark).  

 Increase quality of output (one mark). 
 

A cut in income tax (one mark) may: 

 increase the incentive to work (one mark). 

 raise the size of the labour force (one mark).  

 increase aggregate supply/productive capacity (one mark).  

 raise GDP (output)/long run economic growth/result in 
sustained economic growth (one mark).  

 increase quality of output (one mark). 
 

4 One mark for identifying one of the following supply-side 
policy measures i.e. increasing the role of the private 
sector (privatisation), increased spending on training or 
cut in income tax. 
 
Up to three marks for analysing the effect of one of the 
policy measures on economic growth; 
 
 
Note: a maximum of two marks if just refer to education. 
 
Note: credit training may increase the size of the labour 
force if linked to reducing the numbers of economically 
inactive. 
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Question Answer Marks Guidance 

6   Comment on whether a low unemployment rate should be 
a government’s main macroeconomic objective. 
 
Up to three marks for analysis, such as: 

 Low unemployment would involve high utilisation of 
resources/economy would operate close to production 
possibility curve. 

 Low unemployment will lead to high output/income. 

 Low unemployment may mean higher living standards. 

 Low unemployment may mean low poverty. 

 Low unemployment may reduce social problems e.g. crime. 

 Low unemployment may increase tax revenue. 

 Low unemployment would reduce government spending on 
benefits. 

 Low unemployment may reduce income inequality. 
 

Up to three marks for evaluation, such as: 

 It may conflict with other policy objectives. 

 Low unemployment may result in inflation. 

 Low unemployment may reduce flexibility. 

 Low unemployment may increase a current account deficit. 

 It will depend on the scale of unemployment relative to 
other macroeconomic problems. 

 Inflation can cause a range of problems. 

 Steady and sustainable economic growth can enable a 
government to achieve a range of macroeconomic 
objectives. 

 A current account deficit may put unwanted downward 
pressure on the exchange rate. 

 It may be necessary to focus on reducing national debt in 
order to retain confidence in the economy. 

 May be difficult to reduce unemployment. 

 It can depend on the type of unemployment. 

 The main objective should be full employment rather than 
low unemployment. 

6 Evaluative marks can only be awarded if there is 
underlying analysis focused on the question. 
 
One evaluative point well made may gain three marks. 
 
In evaluation candidates may focus on why aiming for 
low unemployment may not be desirable and/or why 
other objectives may be more important. 
 
Some candidates may start by arguing that another 
objective should be the government’s main 
macroeconomic objective. Accept analysis on the basis 
of this approach provided it is made clear why it might be 
more important than unemployment. Evaluation may take 
the form of assessing the disadvantages of taking this as 
the main objective. 
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Question Answer Marks Guidance 

     Content Levels of response 

7   Discuss whether a rise in a country’s 
exchange rate will always reduce its 
inflation rate. 
This question requires a discussion of 
the possible reasons why a rise in the 
exchange rate may reduce a country’s 
inflation rate and why it might not. 
Answers may consider the impact on 
costs of production, competitive 
pressures and aggregate demand. 
  
L4 For a discussion of whether a 
higher exchange rate will always 
reduce a country’s inflation rate.   
(13–18) 
Answers should evaluate whether a rise 
in the exchange rate will always reduce 
an economy’s inflation rate, e.g: 
 

 The effect of the rise will depend on 
how demand responds to the price 
changes. If, for instance, the quality 
of domestic products increase, 
demand for the economy’s exports 
and demand for its imports may 
remain unchanged. 

 If incomes abroad rise or trade 
restrictions abroad are reduced, the 
economy may continue to enjoy a 
large current account surplus and so 
aggregate demand may not 
decrease. 

 Lower aggregate demand will have 
more of an impact on an economy’s 

18 A rise in the exchange rate will increase 
export prices and lower import prices. 
Lower import prices will directly lower the 
price of some products purchased. They 
will also reduce the cost of imported raw 
materials and put pressure on domestic 
producers to keep the price low. If net 
exports fall, aggregate demand may 
decline which may reduce demand-pull 
inflation. 
 
 
 
 
 
 
 
 
 
 

Note: a maximum of 4 marks for an 
answer discussing the effects of a 
fall in the exchange rate. 
 
Note: Evaluation must be 
supported by relevant analysis.   
 
For 16–18 marks, the discussion 
must: 

 come to a supported 
judgement/s eg if the economy 
is initially operating at full 
capacity, the rise is more likely 
to reduce inflation than if it is 
operating with spare capacity, 
inflation is more likely to fall if 
the economy’s exports and 
imports are high relative to 
GDP. 

 be based on strong analysis. 
 
For 13–15 marks, the discussion: 

 may mention that the effect will 
depend on what is happening to 
incomes abroad, whether there 
are trade restrictions and the 
initial state of the economy 

 must be based on the preceding 
analysis. 

 
The analysis must focus on the 
actual question set. 
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Question Answer Marks Guidance 

     Content Levels of response 

inflation rate if the economy is initially 
operating close to full capacity. 

 Producers may not pass on lower 
imported raw material costs to 
consumers. 

 If domestic firms do not have 
substitutes in the form of imports they 
may continue to raise their prices. 

 A higher exchange rate may 
discourage FDI as it will make 
exports from the country more 
expensive/encourage domestic firms 
to move abroad. This could reduce 
AS and lead to a higher inflation rate. 

 The impact on the economy’s 
inflation rate may be greater, the 
more open the economy is. 

 The effect on aggregate demand will 
be influenced by what is happening to 
the other components of AD. 

 The effects may be offset by a rise in 
productivity or higher inflation abroad. 
 

For 16–18 marks, there must be a 
supported judgement based on the 
preceding analysis and it should reflect 
the strength of the analysis and 
evaluation. 
For 13–15 marks, there must be a 
discussion of the influencing factors and 
it must be based on the preceding 
analysis. 
Complex ideas have been expressed 
clearly and fluently, using a style of 

Note: just stating it depends on the 
size of the rise as a larger rise will 
have a bigger impact is not 
sufficient for evaluation. 
  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



F582/01 Mark Scheme June 2013 

15 

Question Answer Marks Guidance 

     Content Levels of response 

writing appropriate to complex subject 
matter. Sentences and paragraphs, 
consistently relevant, have been well 
structured, using appropriate 
terminology. There may be few if any 
errors of spelling, punctuation and 
grammar. 
 
L3 For an analysis of how an increase 
in its exchange rate may reduce a 
country’s inflation rate.  (9–12) 
 
Answers should analyse how an 
increase in its exchange rate may reduce 
an economy’s inflation rate eg.:  

 Higher export prices and lower import 
prices may reduce net exports and so 
lower aggregate demand which may 
lower demand-pull inflation. This may 
be combined with an explained 
AD/AS diagram. 

 Lower imported raw material prices 
may reduce costs of production and 
so slow down price rises and 
increase AS/reduce cost-push 
inflation. 

 Lower import prices may put 
competitive pressure on domestic 
firms to keep their costs/prices low. 

 A fall in import prices will directly 
reduce the prices of some of the 
products included in the basket of 
goods and services used to calculate 
the consumer prices index. 

 
 
 
 
 
 
 
 
For 11–12 marks, there should be 
analysis of the impact on both 
demand-pull and cost-push factors. 
 
For 9–10 marks, there should be 
analysis in terms of either demand-
pull or cost-push factors. 
 
 
 
 
 
 
The multiplier effect of lower net 
exports may be analysed – not 
required but should be rewarded. 
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Question Answer Marks Guidance 

     Content Levels of response 

For 11–12 marks, there are likely to be a 
number of underdeveloped analytical 
points or a couple of analytical points 
which are well developed. 
 
For 9–10 marks, there are likely to be 
only one/two undeveloped analytical 
points or one analytical point which is 
somewhat developed. 
Relatively straightforward ideas have 
been expressed with clarity and fluency.  
 
Analysis is generally relevant, although 
some of it may stray from the point. 
There will be some errors of spelling, 
punctuation and grammar but these are 
unlikely to be intrusive or obscure 
meaning. 
 

L2 For an application of knowledge 
and understanding of how an 
increase in the exchange rate may 
affect inflation via changes in 
export/import prices or volumes.  (5–
8) 
Answers should recognise how a rise in 
the exchange rate will affect inflation by 
identifying how export and import prices 
and volumes may change. 
Examples of possible L2 answers: 
 

 A rise in the exchange rate raises 
export prices/reduce price 
competitiveness of domestic 
producers. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
8 marks for identifying the effects 
on prices and quantities of both 
exports and imports or providing a 
hint of explanation of the effect on 
aggregate demand or costs of 
production. 
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Question Answer Marks Guidance 

     Content Levels of response 

 A rise in the exchange rate reduces 
import prices. 

 A rise in the exchange rate may 
reduce exports/export revenue. 

 A rise in the exchange rate may 
increase imports/import expenditure. 

 An accurate AD/AS diagram showing 
a shift to the right of the AS curve. 

 An accurate AD/AS diagram showing 
a shift to the left of the AD curve. 
 

For 7–8 marks, the answer should 
recognise the effect on both prices and 
quantities of products. 
 
For 5–6 marks, the answer should 
recognise the effect on either prices or 
quantities. 
 

Some simple ideas have been 
expressed in an appropriate context. 
There is likely to be errors of spelling, 
punctuation and grammar, some of 
which may be noticeable and intrusive. 
 

L1 For knowledge and understanding 
of the exchange rate, a rise in the 
exchange rate and/or the inflation 
rate. 
(1–4) 
These answers will show some 
awareness of the terms. 
Examples of L1 answers: 

 Inflation rate is the percentage rise in 
the general price level, 

 
7 marks for identifying the effects 
on the prices of both exports and 
imports and quantity of one, or the 
quantities of both and price of one. 
Alternatively there may be a hint of 
explanation of the effect on the 
price or quantity of exports and 
imports. 
 
6 marks for identifying the effects 
on either the prices of exports and 
imports or the quantities of exports 
and imports. 
 
5 marks for identifying the effect on 
the price or quantity of either 
exports or imports. 
 
 
 
 
 
 
 
 
 
 
 
 
 
Up to 2 marks on the exchange 
rate, up to 2 marks on the rise in 
the exchange rate and up to 2 
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Question Answer Marks Guidance 

     Content Levels of response 

 The inflation rate is measured by the 
CPI/RPI. 

 AD/AS diagram showing inflation. 

 Diagram showing exchange rate 
determination. 

 The exchange rate is the price of a 
currency in terms of another 
currency. 

 The exchange rate is determined by 
the demand for and supply of a 
currency. 

 A rise in the exchange rate means 
the currency will buy more of another 
currency. 

 A rise in the exchange rate means a 
stronger exchange rate/appreciation. 

 
For 3–4 marks, there will be knowledge 
and understanding of the exchange rate 
and a rise in the exchange rate or 
inflation. 
 
For 1–2 marks, there will be knowledge 
and understanding of either the 
exchange rate or a rise in its value or 
inflation. 
Some simple ideas have been 
expressed. There will be errors of 
spelling, punctuation, grammar that will 
be noticeable and intrusive. Writing may 
lack legibility. 
 

marks on inflation. Up to a 
maximum of 4 marks. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 


